
20
+0
.2

11,087Å±10' 11,087±10'

75.578±0,01 75,578±0,01

70.055±0,01 70,055±0,01

16Å33'±10'

10
0-
0.
1

40

R11,6-0.03

R4.5

7+0.1

R9.8

10îòâ M12-7Í

2îòâ. Ç12 H7
( +0 ,0 18 )

5îòâ. Ç20 H9
( +0 ,0 52 )

26
H9

(+
0,
05

2)

47

R13

A0

Âç
àì

.è
íâ

.¹
Èí

â.
¹

ïî
äë

.
Ïî

äï
.è

äà
òà

Èí
â.

¹
äó

áë
.

Ïî
äï
.è

äà
ò
à

Ïå
ðâ

.ï
ðè
ìå

í.
Ñï
ðà

â.
¹

1:1
Ëèñòîâ

Óòâ.

ËèñòÈçì.

Ïðîâ.

Í.êîíòð.

¹ äîêóì.

Ò.êîíòð.

Ðàçðàá.

Ïîäï. Äàòà

Ìàñøòàá

Ñòàëü Ó10À ÃÎÑÒ 1435-99

20±0,1
100±0,003

130±0,003

240±0,1

288-0.1

18
,5
±0
,0
03

19
8,
5±
0,
01

25
8,
5±
0,
1

39
8,
5±
0,
01

99
7-
0.
1

49
8,
5±
0,
1

59
8,
5±
0,
01

73
8,
5±
0,
1

79
8,
5±
0,
01

97
8,
5±
0,
1

R1.4 R2.9

1,5
+0
.1

5.983+0.1

R391.9-0,1

Ëèò.

Ëèñò

Ìàññà

Ïóàíñîí

R0,5

ÊÄ
16
01
-4

00
1
/

01
1

R3

R3

0.2

0.1

0.
1

0,8

2ðàä.

1.6

0.4

0.
8

1.6
1.6

0.8

0,8

0.4

0.4

0.4 2ðàä.

À

À

À-À

0,8

0.
2

6.3

ïî êîíò.0.2

3. Ìàòåðèàë çàìåíèòåëü ñòàëü 5ÕÍÌ
2. Ìàòåðèàë çàìåíèòåëü ñòàëü 9ÕÑ
1. 53...57 HRÑ

2ðàä.

0.2

0.2

20
+0
.2

11,087Å±10' 11,087±10'

75.578±0,01 75,578±0,01

70.055±0,01 70,055±0,01

16Å33'±10'

10
0-
0.
1

40

R11,6-0.03

R4.5

7+0.1

R9.8

10îòâ M12-7Í

2îòâ. Ç12 H7
( +0 ,0 18 )

5îòâ. Ç20 H9
( +0 ,0 52 )

26
H9

(+
0,
05

2)

47

R13

A0

Âç
àì

.è
íâ

.¹
Èí

â.
¹

ïî
äë

.
Ïî

äï
.è

äà
òà

Èí
â.

¹
äó

áë
.

Ïî
äï
.è

äà
ò
à

Ïå
ðâ

.ï
ðè
ìå

í.
Ñï
ðà

â.
¹

1:1
Ëèñòîâ

Óòâ.

ËèñòÈçì.

Ïðîâ.

Í.êîíòð.

¹ äîêóì.

Ò.êîíòð.

Ðàçðàá.

Ïîäï. Äàòà

Ìàñøòàá

Ñòàëü Ó10À ÃÎÑÒ 1435-99

20±0,1
100±0,003

130±0,003

240±0,1

288-0.1

18
,5
±0
,0
03

19
8,
5±
0,
01

25
8,
5±
0,
1

39
8,
5±
0,
01

99
7-
0.
1

49
8,
5±
0,
1

59
8,
5±
0,
01

73
8,
5±
0,
1

79
8,
5±
0,
01

97
8,
5±
0,
1

R1.4 R2.9

1,5
+0
.1

5.983+0.1

R391.9-0,1

Ëèò.

Ëèñò

Ìàññà

Ïóàíñîí

R0,5

ÊÄ
16
01
-4

00
1
/

01
1

R3

R3

0.2

0.1

0.
1

0,8

2ðàä.

1.6

0.4

0.
8

1.6
1.6

0.8

0,8

0.4

0.4

0.4 2ðàä.

À

À

À-À

0,8

0.
2

6.3

ïî êîíò.0.2

3. Ìàòåðèàë çàìåíèòåëü ñòàëü 5ÕÍÌ
2. Ìàòåðèàë çàìåíèòåëü ñòàëü 9ÕÑ
1. 53...57 HRÑ

2ðàä.

0.2

0.2


